

A CERTAIN SUBCLASS OF UNIFORMLY CONVEX FUNCTIONS DEFINED BY LAMBDA OPERATOR

B. ELIZABETH RANI, RAJKUMAR. N. INGLE, P. THIRUPATHI REDDY,
AND B. VENKATESWARLU

ABSTRACT. In this paper, we introduce a new subclasses of uniformly convex functions with negative coefficients defined by lambda operator. We obtain the coefficient bounds, extreme points and radii of starlikeness and convexity for functions belonging to the class $TS(v, \rho, \mu, s)$. Furthermore, partial sums are considered and sharp lower bounds for the ratios of real part of $u(z)$ to $u_k(z)$ and $u'(z)$ to $u'_k(z)$ are determined and also discussed neighbourhood results for this class.

1. Introduction

Let A denote the class of all functions $u(z)$ of the form

$$u(z) = z + \sum_{\eta=2}^{\infty} a_{\eta} z^{\eta} \quad (1.1)$$

in the open unit disc $E = \{z \in \mathbb{C} : |z| < 1\}$. Let S be the subclass of A consisting of univalent functions and satisfy the following usual normalization condition $u(0) = u'(0) - 1 = 0$. We denote by S the subclass of A consisting of functions $u(z)$ which are all univalent in E . A function $u \in A$ is a starlike function of the order v , $0 \leq v < 1$, if it satisfy

$$\Re \left\{ \frac{zu'(z)}{u(z)} \right\} > v, (z \in E). \quad (1.2)$$

We denote this class with $S^*(v)$.

A function $u \in A$ is a convex function of the order v , $0 \leq v < 1$, if it satisfy

$$\Re \left\{ 1 + \frac{zu''(z)}{u'(z)} \right\} > v, (z \in E). \quad (1.3)$$

We denote this class with $K(v)$.

Let T denote the class of functions analytic in E that are of the form

$$u(z) = z - \sum_{\eta=2}^{\infty} a_{\eta} z^{\eta}, \quad (a_{\eta} \geq 0, z \in E) \quad (1.4)$$

2000 *Mathematics Subject Classification.* Primary 30C45; Secondary 30C80.
Key words and phrases. analytic, coefficient bounds, partial sums.

and let $T^*(v) = T \cap S^*(v)$, $C(v) = T \cap K(v)$. The class $T^*(v)$ and allied classes possess some interesting properties and have been extensively studied by Silverman [11] and others.

A function $u \in A$ is said to be in the class of uniformly convex functions of order γ and type ϱ , denoted by $UCV(\varrho, \gamma)$, if

$$\Re \left\{ 1 + \frac{zu''(z)}{u'(z)} - \gamma \right\} > \varrho \left| \frac{zu''(z)}{u'(z)} \right|, \quad (1.5)$$

where $\varrho \geq 0, \gamma \in [-1, 1)$ and $\varrho + \gamma \geq 0$ and it is said to be in the class corresponding class denoted by $SP(\varrho, \gamma)$, if

$$\Re \left\{ \frac{zu'(z)}{u(z)} - \gamma \right\} > \varrho \left| \frac{zu'(z)}{u(z)} - 1 \right|, \quad (1.6)$$

where $\varrho \geq 0, \gamma \in [-1, 1)$ and $\varrho + \gamma \geq 0$. Indeed it follows from (1.5) and (1.6) that

$$u \in UCV(\gamma, \varrho) \Leftrightarrow zu' \in SP(\gamma, \varrho). \quad (1.7)$$

For $\varrho = 0$, we get respectively, the classes $K(\gamma)$ and $S^*(\gamma)$. The function of the class $UCV(1, 0) \equiv UCV$ are called uniformly convex functions, were introduced and studied by Goodman with geometric interpretation in [4]. The class $SP(1, 0) \equiv SP$ is defined by Ronning [9]. The classes $UCV(1, \gamma) \equiv UCV(\gamma)$ and $SP(1, \gamma) \equiv SP(\gamma)$ are investigated by Ronning in [8]. For $\gamma = 0$, the classes $UCV(\varrho, 0) \equiv \varrho - UCV$ and $SP(\varrho, 0) \equiv \varrho - SP$ are defined respectively, by Kanas and Wisniowska in [5, 6].

Further Ahuja et al. [1], Bharathi et al. [2], Murugusundarmoorthy and Magesh [7] and Thirupathi Reddy and Venkateswarlu [15] have studied and investigated interesting properties for the classes $UCV(\varrho, \gamma)$ and $SP(\varrho, \gamma)$.

For $u \in A$ given by (1.1) and $y(z)$ given by $y(z) = z + \sum_{\eta=2}^{\infty} b_{\eta} z^{\eta}$ their convolution (or Hadamard product), denoted by $(u * y)$, is defined as

$$(u * y)(z) = z + \sum_{\eta=2}^{\infty} a_{\eta} b_{\eta} z^{\eta} = (y * u)(z), \quad (z \in E). \quad (1.8)$$

Note that $u * y \in A$.

Let us recall lambda function [14] defined by

$$\lambda(z, s) = \sum_{\eta=2}^{\infty} \frac{z^{\eta}}{(2\eta + 1)^{\eta}}$$

where $z \in E, s \in \mathbb{C}$, when $|z| < 1, \Re(s) > 1$, when $|z| = 1$ and let $\lambda^{(-1)}(z, s)$ be defined such that

$$\lambda(z, s) * \lambda^{(-1)}(z, s) = \frac{1}{(1 - z)^{\mu+1}}, \quad \mu > -1.$$

We now define $(z\lambda^{(-1)}(z, s))$ as the following

$$(z\lambda(z, s)) * (z\lambda^{(-1)}(z, s)) = \frac{z}{(1 - z)^{\mu+1}} = z + \sum_{\eta=2}^{\infty} \frac{(\mu + 1)_{\eta-1}}{(\eta - 1)!} z^{\eta}, \quad \mu > -1$$

and obtain the following lambda operator

$$\mathcal{I}_{\mu,s}u(z) = \left(z\lambda^{(-1)}(z, s) \right) * u(z)$$

where $u \in A$, $z \in E$ and

$$\left(z\lambda^{(-1)}(z, s) \right) = z + \sum_{\eta=2}^{\infty} \frac{(\mu+1)_{\eta-1}(2\eta-1)^s}{(\eta-1)!} z^\eta.$$

A simple computation gives us

$$\mathcal{I}_{\mu,s}u(z) = z + \sum_{\eta=2}^{\infty} \phi(\mu, s, \eta) a_\eta z^\eta \tag{1.9}$$

$$\text{where } \phi(\mu, s, \eta) = \frac{(\mu+1)_{\eta-1}(2\eta-1)^s}{(\eta-1)!}, \tag{1.10}$$

where $(\mu)_\eta$ is the Pochhammer symbol defined in terms of the Gamma function by

$$(\mu)_\eta = \frac{\Gamma(\mu+\eta)}{\Gamma(\mu)} = \begin{cases} 1, & \text{if } \eta = 0; \\ \mu(\mu+1) \cdots (\mu+\eta-1), & \text{if } \eta \in \mathbb{N} \end{cases}.$$

Now, by making use of the lambda operator $\mathcal{I}_{\mu,s}u$, we define a new subclass of functions belonging to the class A .

Definition 1.1. For $-1 \leq v < 1$ and $\varrho \geq 0$, we let $S(v, \varrho, \mu, s)$ be the subclass of A consisting of functions of the form (1.1) and satisfying the analytic criterion

$$\Re \left\{ \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - v \right\} \geq \varrho \left| \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right|, \tag{1.11}$$

for $z \in E$.

By suitably specializing the values of μ and s , the class $S(v, \varrho, \mu, s)$ can be reduces to the class studied earlier by Ronning [8, 9]. The main object of the paper some usual properties of the geometric function theory such as coefficient bounds, extreme points, radii of starlikeness and convexity, partial sums for the class and neighbourhood results for the class.

2. Coefficient bounds

In this section, we obtain a necessary and sufficient condition for function $u(z)$ is in the classes $S(v, \varrho, \mu, s)$ and $TS(v, \varrho, \mu, s)$.

Theorem 2.1. *The function u defined by (1.1) is in the class $S(v, \varrho, \mu, s)$ if*

$$\sum_{\eta=2}^{\infty} [\eta(1+\varrho) - (v+\varrho)] \phi(\mu, s, \eta) |a_\eta| \leq 1-v, \tag{2.1}$$

where $-1 \leq v < 1$, $\varrho \geq 0$.

Proof. It suffices to show that

$$\varrho \left| \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right| - \Re \left\{ \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right\} \leq 1-v.$$

We have

$$\begin{aligned} & \varrho \left| \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right| - \Re \left\{ \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right\} \\ & \leq (1 + \varrho) \left| \frac{z(\mathcal{I}_{\mu,s}u(z))'}{\mathcal{I}_{\mu,s}u(z)} - 1 \right| \leq \frac{(1 + \varrho) \sum_{\eta=2}^{\infty} (\eta - 1) \phi(\mu, s, \eta) |a_{\eta}|}{1 - \sum_{\eta=2}^{\infty} \phi(\mu, s, \eta) |a_{\eta}|}. \end{aligned}$$

This last expression is bounded above by $(1 - v)$ by

$$\sum_{\eta=2}^{\infty} [\eta(1 + \varrho) - (v + \varrho)] \phi(\mu, s, \eta) |a_{\eta}| \leq 1 - v$$

and hence the proof is complete. \square

Theorem 2.2. *A necessary and sufficient condition for $u(z)$ of the form (1.4) to be in the class $TS(v, \varrho, \mu, s)$, $-1 \leq v < 1$, $\varrho \geq 0$ is that*

$$\sum_{\eta=2}^{\infty} [\eta(1 + \varrho) - (v + \varrho)] \phi(\mu, s, \eta) |a_{\eta}| \leq 1 - v. \quad (2.2)$$

Proof. In view of Theorem 2.1, we need only to prove the necessity.

If $u \in TS(v, \varrho, \mu, s)$ and z is real then

$$\frac{1 - \sum_{\eta=2}^{\infty} \eta \phi(\mu, s, \eta) a_{\eta} z^{\eta-1}}{1 - \sum_{\eta=2}^{\infty} \phi(\mu, s, \eta) a_{\eta} z^{\eta-1}} - v \geq \varrho \left| \frac{\sum_{\eta=2}^{\infty} (\eta - 1) \phi(\mu, s, \eta) |a_{\eta}|}{1 - \sum_{\eta=2}^{\infty} \phi(\mu, s, \eta) |a_{\eta}|} \right|.$$

Letting $z \rightarrow 1$ along the real axis, we obtain the desired inequality

$$\sum_{\eta=2}^{\infty} [\eta(1 + \varrho) - (v + \varrho)] \phi(\mu, s, \eta) |a_{\eta}| \leq 1 - v. \quad \square$$

Theorem 2.3. *Let $u(z)$ defined by (1.4) and $g(z) = z - \sum_{\eta=2}^{\infty} b_{\eta} z^{\eta}$ be in the class $TS(v, \varrho, \mu, s)$. Then the function $h(z)$ defined by*

$$h(z) = (1 - \zeta)u(z) + \zeta g(z) = z - \sum_{\eta=2}^{\infty} c_{\eta} z^{\eta},$$

where $c_{\eta} = (1 - \zeta)a_{\eta} + \zeta b_{\eta}$, $0 \leq \zeta < 1$ is also in the class $TS(v, \varrho, \mu, s)$.

Proof. Let the function

$$u_j = z - \sum_{\eta=2}^{\infty} a_{\eta,j} z^{\eta}, \quad a_{\eta,j} \geq 0, \quad j = 1, 2, \quad (2.3)$$

be in the class $TS(v, \varrho, \mu, s)$. It is sufficient to show that the function $g(z)$ defined by

$$g(z) = \zeta u_1(z) + (1 - \zeta)u_2(z), \quad 0 \leq \zeta \leq 1,$$

is in the class $TS(v, \varrho, \mu, s)$. Since

$$g(z) = z - \sum_{\eta=2}^{\infty} [\zeta a_{\eta,1} + (1 - \zeta) a_{\eta,2}] z^{\eta},$$

an easy computation with the aid of Theorem 2.2 gives,

$$\begin{aligned} & \sum_{\eta=2}^{\infty} [\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta) \zeta a_{\eta,1} + \sum_{\eta=2}^{\infty} [\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta) (1 - \zeta) a_{\eta,2} \\ & \leq \zeta(1 - v) + (1 - \zeta)(1 - v) \\ & \leq 1 - v, \end{aligned}$$

which implies that $g \in TS(v, \varrho, \mu, s)$. Hence $TS(v, \varrho, \mu, s)$ is convex \square

3. Extreme points

The proof of Theorem 3.1, follows on lines similar to the proof of the theorem on extreme points given in Silverman [11]

Theorem 3.1. *Let $u_1(z) = z$ and*

$$u_{\eta}(z) = z - \frac{1 - v}{[\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta)} z^{\eta}, \quad (3.1)$$

for $\eta = 2, 3, \dots$. Then $u(z) \in TS(v, \varrho, \mu, s)$ if and only if $u(z)$ can be expressed in the form $u(z) = \sum_{\eta=2}^{\infty} \zeta_{\eta} u_{\eta}(z)$, where $\zeta_{\eta} \geq 0$ and $\sum_{\eta=1}^{\infty} \zeta_{\eta} = 1$.

Next we prove the following closure theorem.

4. Closure theorem

Theorem 4.1. *Let the function $u_j(z), j = 1, 2, \dots, l$ defined by (2.3) be in the classes $TS(v_j, \varrho, \mu, s)$, $j = 1, 2, \dots, l$ respectively. Then the function $h(z)$ defined by*

$$h(z) = z - \frac{1}{l} \sum_{\eta=2}^{\infty} \left(\sum_{j=1}^l a_{\eta,j} \right) z^{\eta}$$

is in the class $TS(v, \varrho, \mu, s)$, where $v = \min_{1 \leq j \leq l} \{v_j\}$, where $-1 \leq v_j \leq 1$.

Proof. Since $u_j(z) \in TS(v_j, \varrho, \mu, s)$, $j = 1, 2, \dots, l$ for applying (2.3) to Theorem 2.2, then we observe that

$$\begin{aligned} & \sum_{\eta=2}^{\infty} [\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta) \left(\frac{1}{l} \sum_{j=1}^l a_{\eta,j} \right) \\ &= \frac{1}{l} \sum_{j=1}^l a_{\eta,j} \left(\sum_{\eta=2}^{\infty} [\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta) a_{\eta,j} \right) \\ &\leq \frac{1}{l} \sum_{j=1}^l (1 - v_j) \\ &\leq 1 - v \end{aligned}$$

which in view of Theorem 2.2, again implies that $h(z) \in TS(v, \varrho, \mu, s)$ and so the proof is complete. \square

Theorem 4.2. *Let $u \in TS(v, \varrho, \mu, s)$. Then*

- (1). *u is starlike of order δ , $0 \leq \delta < 1$, in the disc $|z| < r_1$
i.e., $\Re \left\{ \frac{zu'(z)}{u(z)} \right\} > \delta$, $|z| < r_1$, where*

$$r_1 = \inf_{\eta \geq 2} \left\{ \left(\frac{1 - \delta}{\eta - \delta} \right) \frac{[\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta)}{1 - v} \right\}^{\frac{1}{\eta-1}}.$$

- (2). *u is convex of order δ , $0 \leq \delta < 1$, in the disc $|z| < r_1$
i.e., $\Re \left\{ 1 + \frac{zu''(z)}{u'(z)} \right\} > \delta$, $|z| < r_2$, where*

$$r_2 = \inf_{\eta \geq 2} \left\{ \left(\frac{1 - \delta}{\eta - \delta} \right) \frac{[\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta)}{1 - v} \right\}^{\frac{1}{\eta}}.$$

Each of these results are sharp for the extremal function $u(z)$ given by (3.1).

Proof. Given $u \in A$ and u is starlike of order δ , we have

$$\left| \frac{zu'(z)}{u(z)} - 1 \right| < 1 - \delta. \quad (4.1)$$

For the left hand side (4.1), we have

$$\left| \frac{zu'(z)}{u(z)} - 1 \right| \leq \frac{\sum_{\eta=2}^{\infty} (\eta - 1) a_{\eta} |z|^{\eta-1}}{1 - \sum_{\eta=2}^{\infty} a_{\eta} |z|^{\eta-1}}.$$

The last expression is less than $1 - \delta$ if $\sum_{\eta=2}^{\infty} \frac{\eta - \delta}{1 - \delta} a_{\eta} |z|^{\eta-1} < 1$.

Using the fact, that $u \in TS(v, \varrho, \mu, s)$ if and only if

$$\sum_{\eta=2}^{\infty} \frac{[\eta(\varrho + 1) - (v + \varrho)] \phi(\mu, s, \eta)}{1 - v} a_{\eta} < 1.$$

We can say (4.1) is true if

$$\begin{aligned} \frac{\eta - \delta}{1 - \delta} |z|^{\eta-1} &< \frac{[\eta(\varrho + 1) - (v + \varrho)]\phi(\mu, s, \eta)}{1 - v} \\ \Rightarrow |z|^{\eta-1} &< \frac{(1 - \delta)[\eta(\varrho + 1) - (v + \varrho)]\phi(\mu, s, \eta)}{(\eta - \delta)(1 - v)} \end{aligned}$$

which yields the starlikeness of the family.

(2). Using the fact that u is convex if and only if zu' is starlike, we can prove (2), on lines similar to the proof of (1). \square

5. Partial Sums

Following the earlier works by Silverman [12] and Silvia [13] on partial sums of analytic functions. We consider in this section partial sums of functions in this class $S(v, \varrho, \mu, s)$ and obtain sharp lower bounds for the ratios of real part of $u(z)$ to $u_q(z)$ and $u'(z)$ to $u'_q(z)$.

Theorem 5.1. *Let $u(z) \in S(v, \varrho, \mu, s)$ be given by (1.1) and define the partial sums $u_1(z)$ and $u_q(z)$ by*

$$u_1(z) = z \text{ and } u_q(z) = z + \sum_{\eta=2}^q a_\eta z^\eta, \quad (q \in \mathbb{N} \setminus \{1\}). \quad (5.1)$$

Suppose that $\sum_{\eta=2}^{\infty} d_\eta |a_\eta| \leq 1$,

$$\text{where } d_\eta = \frac{[\eta(1 + \varrho) - (v + \varrho)]\phi(\mu, s, \eta)}{1 - v} \quad (5.2)$$

Then $u \in S(v, \varrho, \mu, s)$.

$$\text{Further more, } \Re \left[\frac{u(z)}{u_q(z)} \right] > 1 - \frac{1}{d_{q+1}}, \quad (z \in E, q \in \mathbb{N}) \quad (5.3)$$

$$\text{and } \Re \left[\frac{u_q(z)}{u(z)} \right] > \frac{d_{q+1}}{1 + d_{q+1}}. \quad (5.4)$$

Proof. For the coefficients d_η given by (5.2) it is not difficult to verify that

$$d_{\eta+1} > d_\eta > 1. \quad (5.5)$$

$$\text{Therefore we have } \sum_{\eta=2}^q |a_\eta| + d_{q+1} \sum_{\eta=q+1}^{\infty} |a_\eta| \leq \sum_{\eta=2}^{\infty} d_\eta |a_\eta| \leq 1 \quad (5.6)$$

by using the hypothesis (5.2). By setting

$$\begin{aligned} g_1(z) &= d_{q+1} \left[\frac{u(z)}{u_q(z)} - \left(1 - \frac{1}{d_{q+1}} \right) \right] \\ &= 1 + \frac{d_{q+1} \sum_{\eta=q+1}^{\infty} a_\eta z^{\eta-1}}{1 + \sum_{\eta=2}^q a_\eta z^{\eta-1}} \end{aligned} \quad (5.7)$$

and applying (5.6), we find that

$$\left| \frac{g_1(z) - 1}{g_1(z) + 1} \right| \leq \frac{d_{q+1} \sum_{\eta=q+1}^{\infty} |a_{\eta}|}{2 - 2 \sum_{\eta=2}^q |a_{\eta}| - d_{q+1} \sum_{\eta=q+1}^{\infty} |a_{\eta}|} \leq 1 \quad (5.8)$$

which readily yields the assertion (5.3) of Theorem 5.1. In order to see that

$$u(z) = z + \frac{z^{q+1}}{d_{q+1}} \text{ gives sharp result, we observe that for } z = re^{\frac{i\pi}{q}} \text{ that} \quad (5.9)$$

$$\frac{u(z)}{u_q(z)} = 1 + \frac{z^q}{d_{q+1}} \rightarrow 1 - \frac{1}{d_{q+1}} \text{ as } z \rightarrow 1^-.$$

Similarly, if we take

$$\begin{aligned} g_2(z) &= (1 + d_{q+1}) \left(\frac{u_q(z)}{u(z)} - \frac{d_{q+1}}{1 + d_{q+1}} \right) \\ &= 1 - \frac{(1 + d_{q+1}) \sum_{\eta=q+1}^{\infty} a_{\eta} z^{\eta-1}}{1 + \sum_{\eta=2}^{\infty} a_{\eta} z^{\eta-1}} \end{aligned} \quad (5.10)$$

and making use of (5.6), we can deduce that

$$\left| \frac{g_2(z) - 1}{g_2(z) + 1} \right| \leq \frac{(1 + d_{q+1}) \sum_{\eta=q+1}^{\infty} |a_{\eta}|}{2 - 2 \sum_{\eta=2}^q |a_{\eta}| - (1 - d_{q+1}) \sum_{\eta=q+1}^{\infty} |a_{\eta}|}$$

□

which leads is immediately to the assertion (5.4) of Theorem 5.1.

The bound in (5.4) is sharp for each $q \in \mathbb{N}$ with the external function $u(z)$ given by (5.9). The proof of the Theorem 5.1 is thus complete.

Theorem 5.2. *If $u(z)$ of the form (1.1) satisfies the condition (2.1) then*

$$\Re \left[\frac{u'(z)}{u'_q(z)} \right] \geq 1 - \frac{q+1}{d_{q+1}}. \quad (5.11)$$

Proof. By setting

$$\begin{aligned}
 g(z) &= d_{q+1} \left[\frac{u'(z)}{u'_q(z)} \right] - \left(1 - \frac{q+1}{d_{q+1}} \right) \\
 &= \frac{1 + \frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta a_{\eta} z^{\eta-1} + \sum_{\eta=2}^{\infty} \eta a_{\eta} z^{\eta-1}}{1 + \sum_{\eta=2}^{\infty} \eta a_{\eta} z^{\eta-1}} \\
 &= 1 + \frac{\frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta a_{\eta} z^{\eta-1}}{1 + \sum_{\eta=2}^{\infty} \eta a_{\eta} z^{\eta-1}}. \\
 \left| \frac{g(z)-1}{g(z)+1} \right| &\leq \frac{\frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}|}{2 - 2 \sum_{\eta=2}^q \eta |a_{\eta}| - \frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}|}. \tag{5.12}
 \end{aligned}$$

$$\text{Now } \left| \frac{g(z)-1}{g(z)+1} \right| \leq 1 \text{ if } \sum_{\eta=2}^q \eta |a_{\eta}| + \frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}| \leq 1. \tag{5.13}$$

Since the left hand side of (5.13) is bounded above by $\sum_{\eta=2}^q d_{\eta} |a_{\eta}|$ if

$$\sum_{\eta=2}^q (d_{\eta} - \eta) |a_{\eta}| + \sum_{\eta=q+1}^{\infty} d_{\eta} - \frac{d_{q+1}}{q+1} \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}| \geq 0 \tag{5.14}$$

and the proof is complete.

The result is sharp for the extremal function $u(z) = z + \frac{z^{q+1}}{d_{q+1}}$. \square

Theorem 5.3. *If $u(z)$ of the form (1.1) satisfies the condition (2.1) then*

$$\Re \left[\frac{u'_q(z)}{u'(z)} \right] \geq \frac{d_{q+1}}{q+1 + d_{q+1}}. \tag{5.15}$$

Proof. By setting

$$g(z) = [q+1 + d_{q+1}] \left[\frac{u'_q(z)}{u'(z)} - \frac{d_{q+1}}{q+1 + d_{q+1}} \right] = 1 - \frac{\left(1 + \frac{d_{q+1}}{q+1} \right) \sum_{\eta=q+1}^{\infty} \eta a_{\eta} z^{\eta-1}}{1 + \sum_{\eta=2}^q \eta a_{\eta} z^{\eta-1}}$$

and making use of (5.14), we deduce that

$$\left| \frac{g(z)-1}{g(z)+1} \right| \leq \frac{\left(1 + \frac{d_{q+1}}{q+1} \right) \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}|}{2 - 2 \sum_{\eta=2}^q \eta |a_{\eta}| - \left(1 + \frac{d_{q+1}}{q+1} \right) \sum_{\eta=q+1}^{\infty} \eta |a_{\eta}|} \leq 1$$

which leads us immediately to the assertion of the Theorem 5.3. \square

6. Neighbourhood for the class $S^\xi(v, \varrho, \mu, s)$

In this section, we determine the neighbourhoods for the class $S^\xi(v, \varrho, \mu, s)$ which we define as follows:

Definition 6.1. A function $u \in A$ is said to be in the class $S^\xi(v, \varrho, \mu, s)$ if there exist a function $g \in S(v, \varrho, \mu, s)$ such that

$$\left| \frac{u(z)}{g(z)} - 1 \right| < 1 - v, \quad (z \in E, 0 \leq v < 1). \quad (6.1)$$

For any function $u(z) \in A, z \in E$ and $\delta \geq 0$, we define

$$N_{\eta, \delta}(u) = \left\{ g \in \Sigma : g(z) = z + \sum_{\eta=2}^{\infty} b_\eta z^\eta \text{ and } \sum_{\eta=2}^{\infty} \eta |a_\eta - b_\eta| \leq \delta \right\} \quad (6.2)$$

which is the (η, δ) -neighbourhood of $u(z)$.

The concept of neighbourhoods was first introduced by Goodman [3] and generalized by Ruscheweyh [10].

Theorem 6.2. If $g \in S(v, \varrho, \mu, s)$ and

$$\xi = 1 - \frac{\delta(1-v)}{2[(1-v) - (2+\varrho-v)\phi(\mu, s, 2)]} \quad (6.3)$$

then $N_{\eta, \delta}(g) \subset S^\xi(v, \varrho, \mu, s)$.

Proof. Suppose $u \in N_{\eta, \delta}(g)$. We then find from (6.2) that

$$\sum_{\eta=2}^{\infty} \eta |a_\eta - b_\eta| \leq \delta \quad (6.4)$$

which yields the coefficient inequality

$$\sum_{\eta=2}^{\infty} |a_\eta - b_\eta| \leq \frac{\delta}{2}, \quad (\eta \in \mathbb{N}). \quad (6.5)$$

Next, since $g \in S(v, \varrho, \mu, s)$, we have $\sum_{\eta=2}^{\infty} b_\eta \leq \frac{(2+\varrho-v)\phi(\mu, s, 2)}{1-v}$. So that

$$\begin{aligned} \left| \frac{u(z)}{g(z)} - 1 \right| &< \frac{\sum_{\eta=2}^{\infty} |a_\eta - b_\eta|}{1 - \sum_{\eta=2}^{\infty} b_\eta} = \frac{\delta(1-v)}{2[(1-v) - (2+\varrho-v)\phi(\mu, s, 2)]} \\ &= 1 - \xi \end{aligned}$$

provided ξ is given by (6.3). Thus the proof of the is completed. \square

Acknowledgment. The authors would like to thank the reviewers for their valuable comments and helpful suggestions for improvement of the original manuscript.

References

1. Ahuja, O. P., Murugusundaramoorthy, G. and Magesh, N., *Integral means for uniformly convex and starlike functions associated with generalized hypergeometric functions*, J. Inequal. Pure Appl. Math., **8**, 1-9, (2007).
2. Bharati, R., Parvatham, R. and Swaminathan, A., *On subclasses of uniformly convex functions and corresponding class of starlike functions*, Tamkang J. of Math., **28**, 17-32, (1997).
3. Goodman, A. W., *Univalent functions and nonanalytic curves*, Proc. Amer. Math. Soc., **8**, 598-601, 1957.
4. Goodman, A. W., *On uniformly convex functions*, Ann. Pol. Math., **56**, 87-92, (1991).
5. Kanas, S. and Wisniowska, A., *Conic regions and k -uniform convexity*, Comput. Appl. Math., **105**, 327-336, (1999).
6. Kanas, S. and Wisniowska, A., *Conic domains and starlike functions*, Rev. Roum. Math. Pures Appl., **45**, 647-657, (2000).
7. Murugusundaramoorthy, G. and Magesh, N., *Certain subclasses of starlike functions of complex order involving generalised hypergeometric functions*, Int. J. Math. Sci., **45**, Article ID 178605, 12 pages, (2010).
8. Ronning, F., *On starlike functions associated with parabolic regions*, Ann. Univ. Mariae. Curie-Sklodowska Sect. A, **45**, 117-122, (1991).
9. Ronning, F., *Uniformly convex functions and a corresponding class of starlike functions*, Proc. Amer. Math. Soc., **118**, 189-196, (1993).
10. Ruscheweyh, S., *Neighborhoods of univalent functions*, Proc. Amer. Math. Soc., **81** (4), 521-527, 1981.
11. Silverman, H., *Univalent functions with negative coefficients*, Proc. Amer. Math. Soc., **51**, 109-116, (1975).
12. Silverman, H., *Partial sums of starlike and convex functions*, J. Anal. Appl., **209**, 221-227, (1997).
13. Silvia, E. M., *Partial sums of convex functions of order α* , Houston J. Math., **11** (3), 397-404, (1985).
14. Spanier, J. and Oldham, K. B., *The zeta numbers and realted functions*, Chapter 3 in An Atlas of functions, Washington, Dc:Hemisphere, 25-33, (1987).
15. Thirupathi Reddy, P. and Venkateswarlu, B., *On a certain subclass of uniformly convex functions defined by besel functions*, Transylvanian J. of Math. and Mech., **10** (1), 43 - 49, (2018).

B. ELIZABETH RANI: DEPARTMENT OF MATHEMATICS, SKNR GOVT. ARTS & SCIENCE COLLEGE, JAGITAL - 505 327, TELANGANA, INDIA.
E-mail address: srikrutha007@gmail.com

RAJKUMAR. N. INGLE: DEPARTMENT OF MATHEMATICS, BAHIRJI SMARAK MAHAVIDYALAY, BASHMATHNAGAR - 431 512, HINGOLI DIST., MAHARASHTRA, INDIA.
E-mail address: ingleraju11@gmail.com

P. THIRUPATHI REDDY: DEPARTMENT OF MATHEMATICS, KAKATIYA UNIVERSITY, WARANGAL-506 009, TELANGANA, INDIA.
E-mail address: reddypt2@gmail.com

B. VENKATESWARLU: DEPARTMENT OF MATHEMATICS, GSS, GITAM UNIVERSITY, DODDABALLAPUR -562 163, BENGALURU RURAL, INDIA.
E-mail address: bvlmaths@gmail.com